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(1)

18 250
26 250
27
(2)
68 8 28 90.7 1.0 10 0.6 44 5
115 3 91.Q 0.6 7 .4 7 7
803 31 90.8 1.0 9 0.4 51 12
439 3 93. 5 0.2 8. 6 30 7
46 6 9.7 0.8 7 1 3
485 9 93.6 0.2 8. 6 33 4
(1)
21
10 250
100




(2)

26

443 51/ 81. 4 12. 5
97 73 8.1 10. 3
103 33l 84. 8 7. 3
643 15 82. 40 11. 11
55 8 82 . 8 9. 1
14 83. 9 8. 1
69 4 83.4(C 9. 2




(1)

28

28 27
c=8B] A F=E} D _
A H 0 B G=A-|pDH7B-
b p P
688 89.7 90. 17 41.7006 88.3 89. 7 1. 1 1.|4
115 89.2 91. ( 41.1818 87.8 90. 4 3.6 1. 4
80 3 89.690.2[3 ]|.8234 88.289.2[3 1. 6 1. 4
(2)
28 27
c=8Bl A F=E; D -
A E o E G=A-lDH=B-
D ») P
439 90.4 93.5 4.4136 88.8 93. 3 4.5 1.6
46| 89.3 94.75.4 40| 87.9 93. 9 d. 0.4 0.
485 90. 3 93. 6 q.437 § 88.?93.4 4. 6 1.5
(1)
28 27 28 27
3 K=1l-3 L MI N=L-|[m
36 1 p.0 580.16 0. 27 1721849 28 5
17 27.] 17 | 2 607 4] 4 3 7 & 1J 7
36 1 9. 6 5 5 1 10. 0131 02@ 351 34 P9 B3
(2)
28 27 28 27
3 K=1]- 3 L Ml N=L-[m
39 18.444 1 1. 9.6|25 5 B0 | 27 310 7
120 2 7.4 12 | 3 7.3 o.1n| 3p @ 00 3
39 18.4 44 1 7.8 0. & 3f7 27 |1 37




(1)

28 27
gQ=P]O 4T=SiR _
q R U=0-|RV=P-
3 P b
443 80.6 81. 4 q.48904 80.6 82. 5% g 0.0
97 80.4 82.11. 4170 80.3 82. 2 g 0.1
103 80.3 84. 4.153 80.1 85. § . 0. 2 1
643 80.5 82. 0 ]|.8500 80.4 83. 0 12.6.1
(2)
28 27
gQ=P]O 4T=S; R ~
q R U=0-|RV=P-
D p »)
55 80.6 82.8 2.4 63 80.5 84. ¢ .1 0.1
14 80. 4 83.09 BOB 80.5 85. ¢ 5.1 0.1
69 80. 6 83.0 234 80. 5 84.§ 4. 8.1 1
(1)
28 27 28 27
. z a
Wi N Y= W- X b=71a
38 112.014 34|12 .|5 0.1 55103 2 | 5 0
23 310.J027 2 9.4 0.6 30 3 4 2 | 6 3
12 Y, 71 2 106.39 0. 3] 3 0| 3 2/ 1 3 0
38 111.)2 34 1 10.9]110. @ | 9 5141 3
(2)
28 27 28 27
. N z a
Wi X Y= W- X b=71a
33 19.1431 1 8. § 0.]9 1 |) 1 1 00
14 4 8. ( 9 5 B. 1 001 1|1 d 0 0 1
33 1 9. 3 31 1 8.7 0. 6 D 0 2 11 |0
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